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BECC–107 : STATISTICAL METHODS FOR 
ECONOMICS 
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Note : Answer questions from all the Sections as per 
instructions.  

Section—A 

Note : Answer any two questions from this Section.  

2×20=40 

1. Discuss the various methods of collection of 
primary data and secondary data. 20 

2. (a) Define the following concepts and give an 
 example of their application : 9 

  (i) Geometric Mean 

  (ii) Harmonic Mean 

  (iii) Weighted Mean 
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 (b) A fashion designer buys fabric rolls at the 
 beginning of every month for ` 50,000. 

 Price of the fabric is given in the following 
 table :  11 

Month Amount Spent 
(`) 

Fabric Rate 
(`) 

1 50,000 107·5 

2 50,000 118 

3 50,000 140 

4 50,000 114·5 

5 50,000 120 

  Calculate the Harmonic Mean. 

3. (a) What are the various types of Index 

 numbers ? Why do we need them ? Explain 

 with the help of examples. 8  

 (b) Explain the steps in the construction of 

 Index numbers. 12 

4. Discuss the importance of the sample size in 

Statistics. How is an appropriate sample size 

determined ? Explain the process with the help 

of an example. 20 
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Section—B 

Note : Answer any four questions from this Section. 

4×12=48 

5. Given the following table, prepare a relative 

frequency distribution and a ‘less than’ type 
cumulative frequency distribution : 12 

Class Frequency 

500–549 5 

550–599 8 

600–649 12 

650–699 12 

700–749 10 

750–799 8 

800–849 5 

Total 60 
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6. What is the difference between Arithmetic 

Mean and Median ? Explain with the help of a 

hypothetical dataset. 12 

7. (a) Explain the measure of kurtosis with the 

 help of diagram and formula. 7 

 (b) First four central moments of a 

 distribution are—0, 5, 1·4, 18·75. Examine 

 the skewness and kurtosis of the 

 distribution. 5 

8. Define the Spearman’s correlation coefficient. 

Why is Karl Pearson’s correlation coefficient 

not always suitable ? 12 

9. Explain the methods of measuring seasonal 

variations in time series. 12 
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10. Machines A, B and C are producing bolts in a 

factory. They produce 25%, 35% and 40% of the 

total output respectively. However, 6%, 4% and 

3% of their respective output are defective. A 

bolt is drawn at random and is found to be 

defective. What is the probability that it was 

produced by (i) Machine A, (ii) Machine B and 

(iii) Machine C ? 12 

11.  What is a normal distribution ? Explain with 

the help of a diagram. Discuss the important 

features of a normal distribution.  12 

Section—C 

12. Distinguish between any two of the following : 

2×6=12 

(a) Frequency polygon and Frequency curve 
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(b) Discrete probability distribution and 

Continuous probability distribution 

(c) Stratified random sampling and 

Systematic random sampling 

(d) Estimator and Estimate 
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BECC–107 
ch- ,- (vkWulZ) vFkZ'kkL=k 

(ch-,-bZ-lh-,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 
ch-bZ-lh-lh-–107 % vFkZ'kkL=k dh lkaf[;dh; fof/;k¡ 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh Hkkxksa esa ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A   

Hkkxµd 

funsZ'k % bl Hkkx esa ls fdUgha nks iz'uksa ds mÙkj nhft,A 

 2×20=40 

1- izkFkfed vk¡dM+ksa vkSj f}rh;d vk¡dM+ksa ds ladyu dh 

fofHkUu fof/;ksa dh ppkZ dhft,A 20 

2- (v) fuEufyf[kr vo/kj.kkvksa dh ifjHkk"kk nhft, 

 vkSj  muds vuqiz;ksxksa dk ,d&,d mnkgj.k  

 Hkh nhft, % 9 

(i) xq.kksÙkj (T;kfefrd) ekè; 

(ii) gjkRed ekè; 

(iii) Hkkfjr ekè; 
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 (c) ,d iSQ'ku fMtkbuj izR;sd eghus dh 'kq#vkr 

 esa ` 50]000 ds diM+s ds jksy [kjhnrh gSA 

 diM+s dh dhersa fuEufyf[kr rkfydk esa nh  gqbZ 

 gSa %   11 

ekg [kpZ fd;k ewY; 

(`) 

diM+s dh dher&nj 

(`) 

1 50,000 107·5 

2 50,000 118 

3 50,000 140 

4 50,000 114·5 

5 50,000 120 

  gjkRed ekè; dh x.kuk dhft,A  

3- (v) lwpdkad ds fofHkUu izdkj D;k gSa \ gesa mudh 

 vko';drk D;ksa gS \ mnkgj.k dh lgk;rk ls 

 le>kb,A 8 

 (c) lwpdkadksa dh jpuk ds pj.kksa dh O;k[;k 

 dhft,A 12 
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4- lkaf[;dh esa izfrn'kZ (uewuk) vkdkj ds egRo dh 

ppkZ dhft,A ,d mi;qDr izfrn'kZ vkdkj dk fu/kZj.k 

dSls gksrk gS \ ,d mnkgj.k dh lgk;rk ls izfØ;k 

dk o.kZu dhft,A 20 

Hkkxµ[k 

funsZ'k % bl Hkkx esa ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

 4×12=48 

5- nh xbZ rkfydk ls lkis{k vko`fÙk forj.k vkSj ^ls de* 

lap;h vko`fÙk forj.k rS;kj dhft, % 12 

oxZ vko`fÙk 

500–549 5 

550–599 8 

600–649 12 

650–699 12 

700–749 10 

750–799 8 

800–849 5 

dqy 60 
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6- lekUrj ekè; vkSj ekfè;dk ds chp D;k varj  

gS \ dkYifud vk¡dM+ksa ds lewg dh lgk;rk ls 

le>kb,A   12 

7- (v) fp=k vkSj lw=k dh lgk;rk ls ddqnrk ds eki 

 dh O;k[;k dhft,A 7 

 (c) ,d caVu (forj.k) ds dsUnzh; vk?kw.kZ gSaµ  

 0, 5, 1·4, 18·75A bl forj.k ds fo"kerk 

 (oS"kE;) vkSj ddqnrk dk ijh{k.k  

 dhft,A 5 

8- Lih;jeSu ds lglEcU/ xq.kkad dks ifjHkkf"kr dhft,A 

dkyZ fi;jlZu dk lglEcU/ xq.kkad ges'kk mi;qDr 

D;ksa ugha gS \ 12 
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9- dky  Üka`[kyk esa ekSleh fo"kerk dks ekius dh fof/;ksa 

dk o.kZu dhft,A 12 

10- ,d iSQDVªh esa e'khu A, B vkSj C cksYV dk mRiknu 

dj jgh gSaA og dqy mRikn dk Øe'k% 25%, 35% 

vkSj 40% mRiknu dj jgh gSaA gkykafd muds mRiknu 

dk Øe'k% 6%, 4% vkSj 3% nks"kiw.kZ gksrk gSA ,d 

cksYV ;kn`fPNd :i ls pquk x;k vkSj nks"kiw.kZ Ikk;k 

x;kA D;k izkf;drk gS fd og mRikfnr fd;k x;kµ 

(i) e'khu A }kjk] (ii) e'khu B }kjk vkSj (iii) e'khu 

C }kjk \   12 

11- ,d izlkekU; forj.k D;k gS \ ,d vkjs[k ds }kjk 

le>kb,A ,d izlkekU; forj.k dh egRoiw.kZ 

fo'ks"krkvksa dh ppkZ dhft,A 12 
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Hkkxµx 

12- fuEufyf[kr esa ls fdUgha nks esa varj Li"V dhft, % 

2×6=12 

 (v) vko`fÙk cgqHkqt vkSj vko`fÙk oØ 

 (c) [kafMr (fofoDr) izkf;drk caVu vkSj lrr~ 

 izkf;drk caVu 

 (l) Lrfjr ;kn`fPNd izfrp;u vkSj O;ofLFkr 

 ;kn`fPNd izfrp;u 

 (n) vkdyd vkSj vkdyu 

 

 

 

× × × × × × × 

B–1503/BECC–107 


